% 5 BITEFER
B &% 2 B T = B B A
KB RKESERA 1—1|1=2[2—1|2—2|2—3|[3—1|3—2[111| $2 | 112|132\ H33| }r4
4 | K |V—5—1E E B\ % E &R Z|T HE #HexrER K
/| 45 |5 ILHERL AEIEYIEIEIE B A A R Ak
28 3] AO—HUHK #HER
A 4 ARty HFAEREE
5 -
BYDERT1505 T THI17:30 ? m*ﬁﬁig
4 i BEAnAB 1
/ 2
29 3
D% 4
5
6
) —& —EE 1—-1|1—2f2—1|2—2|2—3|[3—1|3—2[+11| 22 | 112|232 1>33| 124
4 | S |ME&EZ 1300 IEIAED LR =1 B EAEIRAERIERIE:
/ ISR ILAERR 2| E | R (% E| B | B g it FE
30 3| E | | FHe | B H|lex FHE OB K
* I BEE B E
5 SRR E
IRYDEHR T 1405 552 TH#16:30 6
)—5 —4EE 1—1|1—2[|2—1]2—2|2—3[[3—1(|3—2||h11| 2 |1 12(4>32|$>33| 14
5 | K [/SRILIER B S B | % tt|ex #8521 #1121t
/ | 45 2| FHE M B R T R R HE HE
1 ||| E % B FHE |rxex B ax FE
x EEIRE T N EIEIE I
5 RITLEHLE
RYDEIETI505 52 TFH17:30 6| ISR E
mEEAER 1—1(1=2[2—1|2—2|2—3||3—1|3—2||111| $22 | 12|4>32| $>33| o4
5 | A |hBXASETEES 1SS EIEIEGAE S B A
/| 45 |)—5—1&E 2|t B FRE R FE || X FE O
2 ISRIVAERL 3| FHE|E B XX EB|FE EEE B
& EIEIE x4 rx FE
5 HERHE (KRS EE)
IRYDERT15:20 T2 THI17:15 6 FBT?E%%’E
5 [VIhR—)L BHhELEYIMR—ILRE(BEET)
/ |yh— RBYYh—IzRXT4/\)L(5BET)
3 |BFT=R BEFEKRE HF BEAH ZFT7=RX BEFERE A#WELE
T |\ R7ybR—)L MEXHAE(4BET)
5 |VIMR—IL BRFEAYTNR—ILRKK(BHET)
/ |yh— RBYYh—IzRXT4/N)L(5HET)
4 |N\NR7ybR—IL MIRHXEBAE(4BET)
H




